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Eight persons in three generation of the family.
K is daughter in law of G. M is father of L, who
is daughter-in-law of P. H is brother-in-law of G
and only son of FF. T is grandson of F. H is
unmarrled G is male. M has two child.
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Eight persons in three generation of the family.
K is daughter in law of G. M is father of L, who
is daughter-in-law of P. H is brother-in-law of G
and only son of FF. T is grandson of F. H is
unmarried. G is male. M has two child.

How is M related to G?
(a) Father

(b) Brother

(c) Father-in- law

(d) Brother-in-law

(e) None of these



Eight persons in three generation of the family.
K is daughter in law of G. M is father of L, who
is daughter-in-law of P. H is brother-in-law of G
and only son of FF. T is grandson of F. H is
unmarried. G is male. M has two child.

How is K related to L?
(a) Daughter

(b) Daughter-in-law
(c) Mother-in-law

(d) Sister

(e) None of these



Eight persons in three generation of the family.
K is daughter in law of G. M is father of L, who
is daughter-in-law of P. H is brother-in-law of G
and only son of FF. T is grandson of F. H is
unmarried. G is male. M has two child.

Who among the following is son of M?
(@ H

(b) G

(T

(dL

(e) None of these



Statements:
H<Y<UZ=2ZQ=N>R;S=T>G=V>H
Conclusions:

. U<R

II. S>U

None is True

Both | and Il are True
Only Il is True

Only Il is True

Either | or Il is True
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Statements:
T>M=K<B=G<P>V>L;X>Z>T
Conclusions:

. X>P

. P>T

. None is True

Both | and Il are True
Only Il is True

Only Il is True

Either | or Il is True
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Statements:
P<Q=>G,G=>I>2E;C<P;C>U
Conclusions:

. U>I

II. P<E

. None is True

Both | and |l are True

Only Il is True

Only Il is True

Either | or Il is True
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There are 6 persons namely A, B, C, D, E and F. They all
are sitting around a circular table facing the centre. Each
one of them likes a fruit namely, Apple, Banana, Guava,
Mango, Papaya and Orange but not necessarily in the
same order. A likes apples and is sitting second to the left
of B. The one who likes mango sits between the one who
likes apple and B. C who likes papaya sits opposite to E.
Two persons are sitting between B and F. The one who
likes guava sits immediately to the left of the one who
likes apples. D and B do not like mango. D sits second to



There are 6 persons namely A, B, C, D, E and F. They all
are sitting around a circular table facing the centre. Each
one of them likes a fruit namely, Apple, Banana, Guava,
Mango, Papaya and Orange but not necessarily in the
same order. A likes apples and is sitting second to the left
of B. The one who likes mango sits between the one who
likes apple and B. C who likes papaya sits opposite to E.
Two persons are sitting between B and F. The one who
likes guava sits immediately to the left of the one who
likes apples. D and B do not like mango. D sits second to
the right of E and likes orange.

Which fruit does F like?

a) Mango
b) Apple
c) Guava
d) Banana
e) Papaya



There are 6 persons namely A, B, C, D, E and F. They all
are sitting around a circular table facing the centre. Each
one of them likes a fruit namely, Apple, Banana, Guava,
Mango, Papaya and Orange but not necessarily in the
same order. A likes apples and is sitting second to the left
of B. The one who likes mango sits between the one who
likes apple and B. C who likes papaya sits opposite to E.
Two persons are sitting between B and F. The one who
likes guava sits immediately to the left of the one who
likes apples. D and B do not like mango. D sits second to
the right of E and likes orange.

How many persons are sitting between A and E, when
counted to the left of A?

a) Two
b) Three
c) One
d) Four
e) None



There are 6 persons namely A, B, C, D, E and F. They all
are sitting around a circular table facing the centre. Each
one of them likes a fruit namely, Apple, Banana, Guava,
Mango, Papaya and Orange but not necessarily in the
same order. A likes apples and is sitting second to the left
of B. The one who likes mango sits between the one who
likes apple and B. C who likes papaya sits opposite to E.
Two persons are sitting between B and F. The one who
likes guava sits immediately to the left of the one who
likes apples. D and B do not like mango. D sits second to
the right of E and likes orange.

Who is sitting opposite to the one who likes orange?

a) C
b) E
c) The one who likes mango

d) The one who likes apple
e) F



There are 6 persons namely A, B, C, D, E and F. They all
are sitting around a circular table facing the centre. Each
one of them likes a fruit namely, Apple, Banana, Guava,
Mango, Papaya and Orange but not necessarily in the
same order. A likes apples and is sitting second to the left
of B. The one who likes mango sits between the one who
likes apple and B. C who likes papaya sits opposite to E.
Two persons are sitting between B and F. The one who
likes guava sits immediately to the left of the one who
likes apples. D and B do not like mango. D sits second to
the right of E and likes orange.

Who is sitting second to the right of C?

a) D
b) A
c) E
d B
e) F



There are 6 persons namely A, B, C, D, E and F. They all
are sitting around a circular table facing the centre. Each
one of them likes a fruit namely, Apple, Banana, Guava,
Mango, Papaya and Orange but not necessarily in the
same order. A likes apples and is sitting second to the left
of B. The one who likes mango sits between the one who
likes apple and B. C who likes papaya sits opposite to E.
Two persons are sitting between B and F. The one who
likes guava sits immediately to the left of the one who
likes apples. D and B do not like mango. D sits second to
the right of E and likes orange.

Which pair of name - fruit is correct?

a) F-Apple
b) D - Guava
c) B -Mango

d) A -Papaya
e) B -Banana



‘value theme particle around’ is written as ‘tfk dm un ssd’
‘song new theme sing’ is written as ‘dj xy tfk src’

‘sing loud particle mix’ is written as ‘ssd bt src hnm’
‘around theme mix song’ is written as ‘xy un tfk bt’

What is the code of ‘around”?

1. Un
2. Dm
3. Dj

4. Src
5. ssd



‘value theme particle around’ is written as ‘tfk dm un ssd’
‘song new theme sing’ is written as ‘dj xy tfk src’

‘sing loud particle mix’ is written as ‘ssd bt src hnm’
‘around theme mix song’ is written as ‘xy un tfk bt’

In the coded language, is coded
as ‘hnm’.

I. Theme

2. Particle

3. Around

4. Loud

5. value



‘value theme particle around’ is written as ‘tfk dm un ssd’
‘song new theme sing’ is written as ‘dj xy tfk src’

‘sing loud particle mix’ is written as ‘ssd bt src hnm’
‘around theme mix song’ is written as ‘xy un tfk bt’

What is the code of ‘theme sing value’?

un xy bt
tfk src dm
src tfk d;j
dm src ssd
dj hnm bt
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In the given word ‘ALONGSIDE’ the
consonants are written first and vowels are
written second in alphabetical order then the
vowels are changed to the next letter and the
consonants are changed to the previous letters

as per the alphabetical series, then which letter
is fifth from the left end.

Trl:{ I 'ALONGSIDE' | P W h|




How many such pairs of digits are there in the
number ‘73951286’, each of which has as many
digits between them in the number (both
forward and backward direction) as they have

between them in the N er es?
%%7391%233%?‘%%("’"‘}@‘;@@
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More than Four
None



There is family of seven member having three
generations. There are more than four females
in the family. A is the father of B. L is married to
the only son of G. L has an unmarried S|bI|ng K.
B is the nephew of K. C is the child of A. G is the
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There is family of seven member having three
generations. There are more than four females
in the family. A is the father of B. L is married to
the only son of G. L has an unmarried S|bI|ng K.
B is the nephew of K. C is the child of A. G is the
mother of A. H is the parent of L.

How is K related to A?

a) Sister - in- law

b) Brother - in- law

c) Son

d) Daughter

e) Cannot be determined



There is family of seven member having three
generations. There are more than four females
in the family. A is the father of B. L is married to
the only son of G. L has an unmarried S|bI|ng K.
B is the nephew of K. C is the child of A. G is the
mother of A. H is the parent of L.

How is C related to G?

a) Grandmother

b) Daughter

c) Granddaughter

d) Sister

e) Cannot be determined



Six persons (C, D, E, F, J, K) were born on two
different dates 5, 12 of three different months viz.
March, May and September. Only one person was
born on one date of a month. ] was born on the 5"
of a month having 30 days. Not more than two
persons were born between F and E. C was born on
an even-numbered date but immediately after K.
Only two persons were born between J and C. D
was born on one of the months before E. K was
born before F but not after D. At least two people

were born after F.
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Six persons (C, D, E, F, J, K) were born on two
different dates 5, 12 of three different months viz.
March, May and September. Only one person was
born on one date of a month. ] was born on the
5thof a month having 30 days. Not more than two
persons were born between F and E. C was born on
an even-numbered date but immediately after K.
Only two persons were born between J and C. D
was born on one of the months before E. K was
born before F but not after D. At least two people
were born after F.

How many persons born between C and F?

a) Two

b) More than three
c) Three

d) One

e) Cannot determined



Six persons (C, D, E, F, J, K) were born on two
different dates 5, 12 of three different months viz.
March, May and September. Only one person was
born on one date of a month. ] was born on the
5thof a month having 30 days. Not more than two
persons were born between F and E. C was born on
an even-numbered date but immediately after K.
Only two persons were born between J and C. D
was born on one of the months before E. K was
born before F but not after D. At least two people
were born after F.

Who among the following was born immediately
before E?

a) K
e
c) J
d) F
e) D



Six persons (C, D, E, F, J, K) were born on two
different dates 5, 12 of three different months viz.
March, May and September. Only one person was
born on one date of a month. ] was born on the
5thof a month having 30 days. Not more than two
persons were born between F and E. C was born on
an even-numbered date but immediately after K.
Only two persons were born between J and C. D
was born on one of the months before E. K was
born before F but not after D. At least two people
were born after F.

Which of the following is the birth date of C?

a) 12 May

b) 12 March

c) 5 September
d) 5 March

e) 5 May



Six persons (C, D, E, F, J, K) were born on two
different dates 5, 12 of three different months viz.
March, May and September. Only one person was
born on one date of a month. ] was born on the
5thof a month having 30 days. Not more than two
persons were born between F and E. C was born on
an even-numbered date but immediately after K.
Only two persons were born between J and C. D
was born on one of the months before E. K was
born before F but not after D. At least two people
were born after F.

Which of the following statements is true?

a) ) and F both were born in the same month
b) F was born on an odd-numbered date

c) E was born on the 5th of a month.

d) E was born on the |12th of a month

e) All are true.



Six persons (C, D, E, F, J, K) were born on two
different dates 5, 12 of three different months viz.
March, May and September. Only one person was
born on one date of a month. ] was born on the
5thof a month having 30 days. Not more than two
persons were born between F and E. C was born on
an even-numbered date but immediately after K.
Only two persons were born between J and C. D
was born on one of the months before E. K was
born before F but not after D. At least two people
were born after F.

Four of the five are alike in a certain way and thus
form a group. Find the option which does not
belong to the group

a) K

b) C

c) D

d) F

e) )



There are six persons namely A,B,C,D, E and F.
They are arranged in descending order of their
age from left to right. No two persons have the
same age. E is younger than A but elder to B.B
is not the youngest. E is 25 years old. The
difference of ages of D and E is20 years. C is the
second_youngest person.
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There are six persons namely A,B,C,D, E and F.
They are arranged in descending order of their
age from left to right. No two persons have the
same age. E is younger than A but elder to B.B
is not the youngest. E is 25 years old. The
difference of ages of D and E is20 years. C is the
second youngest person.

If the sum of ages of A and E is 70 and the sum
of ages of F and D is 89 years then what is the
age of D?

a) 55 years
b) 20 years
c) |5 years
d) 5 years

e) 10 years



There are six persons namely A,B,C,D, E and F.
They are arranged in descending order of their
age from left to right. No two persons have the
same age. E is younger than A but elder to B.B
is not the youngest. E is 25 years old. The
difference of ages of D and E is20 years. C is the
second youngest person.

If the sum of ages of A and E is 70 and the sum
of ages of F and D is 89 then what is the
possible age of C?

a) 45 years
b) 10 years
c) 26 years
d) 2 years

e) 30 years



In a bank meeting, the eight bank employees Q, R, U, P, D,
H, L, and C hold different positions -Managing Director
(MD), Executive Director (ED), Chief General Manager
(CGM), General Manager (GM),Assistant General
Manager (AGM), Divisional Manager (DM), Marketing
Officer (MO) and Clerk but not necessarily in the same
order. All the positions are in increasing order where
Clerk is junior to all and MD is senior to all. U is just one
position senior to R. D is junior to Q. Q is senior to only
three persons. L is neither Chief General Manager nor
Managing Director. P is senior to Divisional Manager but
junior to Managing Director. H is not junior to P. D is not

the juniar. C is xec tive Director.
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In a bank meeting, the eight bank employees Q, R, U, P, D,
H, L, and C hold different positions -Managing Director
(MD), Executive Director (ED), Chief General Manager
(CGM), General Manager (GM),Assistant General
Manager (AGM), Divisional Manager (DM), Marketing
Officer (MO) and Clerk but not necessarily in the same
order. All the positions are in increasing order where
Clerk is junior to all and MD is senior to all. U is just one
position senior to R. D is junior to Q. Q is senior to only
three persons. L is neither Chief General Manager nor
Managing Director. P is senior to Divisional Manager but
junior to Managing Director. H is not junior to P. D is not
the most junior. C is an Executive Director.

Find the odd one out.

Managing Director - P
Assistant General Manager - Q
Divisional Manager - D

Clerk-=R
Executive Director - C
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In a bank meeting, the eight bank employees Q, R, U, P, D,
H, L, and C hold different positions -Managing Director
(MD), Executive Director (ED), Chief General Manager
(CGM), General Manager (GM),Assistant General
Manager (AGM), Divisional Manager (DM), Marketing
Officer (MO) and Clerk but not necessarily in the same
order. All the positions are in increasing order where
Clerk is junior to all and MD is senior to all. U is just one
position senior to R. D is junior to Q. Q is senior to only
three persons. L is neither Chief General Manager nor
Managing Director. P is senior to Divisional Manager but
junior to Managing Director. H is not junior to P. D is not
the most junior. C is an Executive Director.

Who is the most senior among them?
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In a bank meeting, the eight bank employees Q, R, U, P, D,
H, L, and C hold different positions -Managing Director
(MD), Executive Director (ED), Chief General Manager
(CGM), General Manager (GM),Assistant General
Manager (AGM), Divisional Manager (DM), Marketing
Officer (MO) and Clerk but not necessarily in the same
order. All the positions are in increasing order where
Clerk is junior to all and MD is senior to all. U is just one
position senior to R. D is junior to Q. Q is senior to only
three persons. L is neither Chief General Manager nor
Managing Director. P is senior to Divisional Manager but
junior to Managing Director. H is not junior to P. D is not
the most junior. C is an Executive Director.

Who is at the position of Chief General Manager?
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In a bank meeting, the eight bank employees Q, R, U, P, D,
H, L, and C hold different positions -Managing Director
(MD), Executive Director (ED), Chief General Manager
(CGM), General Manager (GM),Assistant General
Manager (AGM), Divisional Manager (DM), Marketing
Officer (MO) and Clerk but not necessarily in the same
order. All the positions are in increasing order where
Clerk is junior to all and MD is senior to all. U is just one
position senior to R. D is junior to Q. Q is senior to only
three persons. L is neither Chief General Manager nor
Managing Director. P is senior to Divisional Manager but
junior to Managing Director. H is not junior to P. D is not
the most junior. C is an Executive Director.

What is the position of L?

General Manager
Managing Director
Chief General Manager

Clerk
None of these
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